Connect the Transformer Using the Following Information:

4,800

Circuit Voltage:

Transformer 1

HV — 4,800 / 8,300v KVA - 75 KVA
LV — 120 / 240v POL - A
v B
Using C
industry
standards N
fill in the
correct
polarity
Connect the
secondary coil leads
to the secondary
bushings.
Label all the “x”
j bushings
Siake)®
~
a Show secondary
voltages
b
I
|
C v
n a-n a-b
Use Outer Circle for Primary Vector - Label A, B, & C bon bec
Use Inner Circle for Secondary Vector - Label a, b, & ¢ Customer Needs: 120/240 on e




Connect the Transformer Using the Following Information:

34,500

Circuit Voltage:

Transformer 1
HV — 19,900 / 34,500v KVA - 50 KVA

LV — 120 / 240v POL - A
v B
Using C
industry
standards N
fill in the
correct
polarity
Connect the
secondary coil leads
to the secondary
bushings.
Label all the “x”
j bushings
g ©
~
a Show secondary
voltages
b
I
|
c v
n a-n a-b _
Use Outer Circle for Primary Vector - Label A, B, & C bon bec
Use Inner Circle for Secondary Vector - Label a, b, & ¢ Customer Needs: 120/240 on e




Connect the Transformer Using the Following Information:

Transformer 1

~

HV — 4,160/ 7,200v KVA - 50 KVA

LV — 120/ 240v POL — v
Transformer 2

HV — 4,160 / 7,200v KVA - 50 KVA

LV —120/ 240v POL -
Transformer 3

HV — 4,160 / 7,200v KVA - 50 KVA

LV —120/ 240v POL -

Using
industry
standards
fill in the
correct
polarity

Use Outer Circle for Primary Vector - Label A, B, & C

Use Inner Circle for Secondary Vector - Label a, b, & ¢

Circuit Voltage:

7,200

A
B
C
N
L g © L g © & g ©
N A

Customer Needs:

240 30

Connect the
secondary coil leads
to the secondary
bushings.

Label all the “x”
bushings

a-n

b-n

Show secondary
voltages

|
|
|
|
v
a-b
b-c




Connect the Transformer Using the Following Information:

Transformer 1

Using
industry
standards
fill in the
correct
polarity

HV — 12,000v KVA - 25 KVA

LV —120/ 240v POL - v
Transformer 2

HV — 12,000v KVA - 25 KVA

LV —120/ 240v POL -
Transformer 3

HV - 12,000v KVA - 25 KVA

LV — 120/ 240v POL -

60
°

Use Outer Circle for Primary Vector - Label A, B, & C

Use Inner Circle for Secondary Vector - Label a, b, & ¢

Circuit Voltage:

12,000

A
B
C
N
DGO\ || A0, || A, O0
g g gg®©
N S N e U

Customer Needs:

120/208 30

Connect the
secondary coil leads
to the secondary
bushings.

Label all the “x”
bushings

Show secondary

voltages

|

I

|

v
a-n a-b
b-n b-c
c-n a-c




Connect the Transformer Using the Following Information:

Transformer 1

Using
industry
standards
fill in the
correct
polarity

HV — 11,500/ 19,900v KVA - 15 KVA
LV —120/ 240v POL -
V\\

Transformer 2

HV — 11,500/ 19,900v KVA - 15 KVA

LV — 120/ 240v POL —
Transformer 3

HV — 11,500/ 19,900v KVA - 15 KVA

LV — 120/ 240v POL —

Use Outer Circle for Primary Vector - Label A, B, & C

Use Inner Circle for Secondary Vector - Label a, b, & ¢

Circuit Voltage:

19,900

A
B
C
N
A0\ || ADO0N || A0
g a© g a© g a©
N S N S U

Customer Needs:

120/208 39

Connect the
secondary coil leads
to the secondary
bushings.

Label all the “x”
bushings

Show secondary

voltages
|
|
|
v
a-n a-b
b-n b-c

c-n a-c




Connect the Transformer Using the Following Information:

Transformer 1

HV — 14,400 / 24,900v KVA - 50 KVA
LV —120/ 240v POL -
V\\\

Transformer 2

HV — 14,400 / 24,900v KVA - 50 KVA

LV — 120/ 240v POL —
Transformer 3

HV — 14,400 / 24,900v KVA - 50 KVA

LV — 120/ 240v POL —

~

Using
industry
standards
fill in the
correct
polarity

Use Outer Circle for Primary Vector - Label A, B, & C

Use Inner Circle for Secondary Vector - Label a, b, & ¢

Circuit Voltage:

24,900

A
B
C
N
AUDVQON || AT || AN
g © Qg © Qg ©
N NG L

Customer Needs: 240 3¢ Grounded leg

Connect the
secondary coil leads
to the secondary
bushings.

Label all the “x”
bushings

a-n
b-n

c-n

Show secondary
voltages




Connect the Transformer Using the Following Information:

7
Transformer 1 #}Z‘Sgﬂy Circuit Voltage: 2,400
HV — 2,400/ 4,160v KVA - 25 KVA standards
LV — 120 / 240v POL — il in the
NG polarity A
Transformer 2 B
HV — 2,400/ 4,160v KVA - 75 KVA
LV — 120 / 240v POL — C
N
Transformer 3
HV — 2,400/ 4,160v KVA - 25 KVA
LV — 120/ 240v POL -

Connect the
secondary coil leads
to the secondary
bushings.

Label all the “x”
bushings

g © Qg © Qg ©

a Show secondary
voltages
b
|
|
¢ v
n a-n a-b
Use Outer Circle for Primary Vector - Label A, B, & C bon boc

Use Inner Circle for Secondary Vector - Label a, b, & ¢

Customer Needs: 120/240 3¢ c-n a-c




Connect the Transformer Using the Following Information:

Transformer 1

HV — 2,400 / 4,160v
LV — 240/ 480v

Transformer 2

KVA - 37.5 KVA
POL —

vo_

HV — 2,400 / 4,160v
LV — 240/ 480v

KVA - 37.5 KVA
POL —

~

~

Using
industry
standards
fill in the
correct
polarity

270

Use Outer Circle for Primary Vector - Label A, B, & C

Use Inner Circle for Secondary Vector - Label a, b, & ¢

Circuit Voltage:

4,160

A

B

C

N
QgCl|9g©
— I~

Customer Needs:

480 30

Connect the
secondary coil leads
to the secondary
bushings.

Label all the “x”
bushings

Show secondary

voltages

|

|

|
v

a-n a-b
b-n b-c
c-n a-c




Connect the Transformer Using the Following Information:

Transformer 1

Using
industry
standards
fill in the
correct
polarity

HV - 7,600v KVA - 50 KVA
LV —120/ 240v POL -
V\\

Transformer 2

HV - 7,600v KVA - 50 KVA

LV — 120/ 240v POL —
Transformer 3

HV - 7,600v KVA - 50 KVA

LV — 120/ 240v POL —

Use Outer Circle for Primary Vector - Label A, B, & C

Use Inner Circle for Secondary Vector - Label a, b, & ¢

Z O W >»

Circuit Voltage:

7,600

€oo©

€oo©

€oo©

Customer Needs:

240 30

Connect the
secondary coil leads
to the secondary
bushings.

Label all the “x”
bushings

Show secondary
voltages




Connect the Transformer Using the Following Information:

Transformer 1

HV — 14,400 / 24,900v
LV — 120/ 240v

Transformer 2

KVA — 37.5 KVA
POL —

vo_

HV — 14,400 / 24,900v
LV — 120/ 240v

Transformer 3

KVA — 75 KVA
POL —

HV — 14,400 / 24,900v
LV — 120/ 240v

60

KVA — 37.5 KVA
POL —

~

~

Using
industry
standards
fill in the
correct
polarity

Use Outer Circle for Primary Vector - Label A, B, & C

Use Inner Circle for Secondary Vector - Label a, b, & ¢

Z O W >»

Circuit Voltage:

24,900

g ©

Qg ©

Qg ©

Customer Needs:

120/240 30

10

Connect the
secondary coil leads
to the secondary
bushings.

Label all the “x”
bushings

Show secondary

voltages
|
I
|
v
a-n a-b
b-n b-c
c-n a-c




Connect the Transformer Using the Following Information:

Transformer 1

~

HV — 13,200/ 22,800v KVA - 25 KVA

LV —120/ 240v POL - .
Transformer 2

HV — 13,200/ 22,800v KVA - 75 KVA

LV — 120/ 240v POL —

~

Using
industry
standards
fill in the
correct
polarity

Use Outer Circle for Primary Vector - Label A, B, & C

Use Inner Circle for Secondary Vector - Label a, b, & ¢

Circuit Voltage:

13,200

A

B

C

N
DGO\ | | /I, GO\
¥ga® | |9gae
N~

11

Connect the
secondary coil leads
to the secondary
bushings.

Label all the “x”
bushings

Customer Needs:

120/240 30

Show secondary

voltages
|
i
|
v
a-n a-b
b-n b-c




Connect the Transformer Using the Following Information:

Transformer 1

HV — 2,400 / 4,160v
LV — 120/ 240v

Transformer 2

KVA - 37.5 KVA
POL —

vo_

HV — 2,400 / 4,160v
LV —120/ 240v

Transformer 3

KVA - 37.5 KVA
POL —

HV — 2,400 / 4,160v
LV — 120/ 240v

KVA - 37.5 KVA
POL —

Using
industry
standards
fill in the
correct
polarity

270

Use Outer Circle for Primary Vector - Label A, B, & C

Use Inner Circle for Secondary Vector - Label a, b, & ¢

Circuit Voltage:

4,160

Z O W >»

g ©

Qg ©

Qg ©

12

Connect the
secondary coil leads
to the secondary
bushings.

Label all the “x”
bushings

Show secondary
voltages

Customer Needs:

120/208 3@




Connect the Transformer Using the Following Information:

Transformer 1

Using
industry
standards
fill in the
correct
polarity

HV — 2,400/ 4,160v KVA - 250 KVA
LV —120/ 240v POL —
V\\

Transformer 2

HV — 2,400/ 4,160v KVA - 250 KVA

LV —120/ 240v POL —
Transformer 3

HV — 2,400/ 4,160v KVA - 250 KVA

LV —120/ 240v POL -

Use Outer Circle for Primary Vector - Label A, B, & C

Use Inner Circle for Secondary Vector - Label a, b, & ¢

Circuit Voltage:

2,400

Z O W >»

Customer Needs:

120/208 3@

13

Connect the
secondary coil leads
to the secondary
bushings.

Label all the “x”
bushings

a-n
b-n

c-n

Show secondary
voltages

v
a-b

b-c

a-c



Connect the Transformer Using the Following Information:

Transformer 1

HV — 4,160/ 7,200 v KVA - 250 KVA
LV —120/ 240v POL -
V\\
Transformer 2
HV — 4,160/ 7,200 v KVA - 250 KVA
LV — 120/ 240v POL -
Transformer 3
HV — 4,160/ 7,200 v KVA - 325 KVA
LV —120/ 240v POL -

~

~

Using
industry
standards
fill in the
correct
polarity

Use Outer Circle for Primary Vector - Label A, B, & C

Use Inner Circle for Secondary Vector - Label a, b, & ¢

Circuit Voltage:

7,200

A

B

C

N
ADGON || AN || A0
g g g
—

Customer Needs:

120/240 30

14

Connect the
secondary coil leads
to the secondary
bushings.

Label all the “x”
bushings

Show secondary

voltages

|

|

|

v

a-n a-b
b-n b-c
c-n a-c




Connect the Transformer Using the Following Information:

Transformer 1

Using
industry
standards
fill in the
correct
polarity

HV — 4,800v KVA — 15 KVA
LV — 240/ 480v POL -
V\\

Transformer 2

HV — 4,800v KVA — 15 KVA

LV — 240/ 480v POL -
Transformer 3

HV — 4,800v KVA — 15 KVA

LV — 240/ 480v POL -

Use Outer Circle for Primary Vector - Label A, B, & C

Use Inner Circle for Secondary Vector - Label a, b, & ¢

Circuit Voltage:

4800

Z O W >»

g ©

Qg ©

Qg ©

15

Connect the
secondary coil leads
to the secondary
bushings.

Label all the “x”
bushings

Show secondary
voltages

Customer Needs:

480 30




Connect the Transformer Using the Following Information:

Transformer 1

vo_

HV — 7,200/ 12,470v KVA - 205 KVA

LV —277v POL —
Transformer 2

HV — 7,200/ 12,470v KVA - 205 KVA

LV —277v POL —
Transformer 3

HV — 7,200/ 12,470v KVA - 205 KVA

LV —277v POL -

Using
industry
standards
fill in the
correct
polarity

270

Use Outer Circle for Primary Vector - Label A, B, & C

Use Inner Circle for Secondary Vector - Label a, b, & ¢

Circuit Voltage:

12,470

Z O W >»

16

Connect the
secondary coil leads
to the secondary
bushings.

Label all the “x”
bushings

Show secondary
voltages

Customer Needs:

277/480 30

I

|

v
a-n a-b

b-n b-c




Connect the Transformer Using the Following Information:

Transformer 1

HV — 120,000v KVA - 750 KVA
LV - 7,200v POL -
V\\
Transformer 2
HV — 120,000v KVA - 750 KVA
LV —7,200v POL -
Transformer 3
HV — 120,000v KVA - 750 KVA
LV —7,200v POL -

Using
industry
standards
fill in the
correct
polarity

270

Use Outer Circle for Primary Vector - Label A, B, & C

Use Inner Circle for Secondary Vector - Label a, b, & ¢

Circuit Voltage:

120,000

Z O W >»

Customer Needs:7,200/12,470 3¢

17

Connect the
secondary coil leads
to the secondary
bushings.

Label all the “x”
bushings

Show secondary

voltages
|
|
|
v
a-n a-b
b-n b-c




Connect the Transformer Using the Following Information: 18

Transformer 1 .Uzingt Circuit Voltage: 7'200 v
industry
HV — 4,160/ 7,200v KVA - 50 KVA standards
LV —277v POL — fill in the
v correct
~~.| polarity A
Transformer 2
HV — 4,160 / 7,200v KVA - 50 KVA B
LV —277v POL - C
N
Transformer 3
HV — 4,160/ 7,200v KVA - 50 KVA
LV —277v POL —

Connect the
secondary coil leads
to the secondary
bushings.

Label all the “x”
bushings

a Show secondary
voltages
b
I
i
¢ v
n a-n a-b
Use Outer Circle for Primary Vector - Label A, B, & C bon bec

Use Inner Circle for Secondary Vector - Label a, b, & ¢

Customer Needs: 480 3@ c-n a-c




Connect the Transformer Using the Following Information:

Transformer 1

HV — 4,000 / 6,900v KVA - 150 KVA
LV — 120v POL -
V\\

Transformer 2

HV — 4,000 / 6,900v KVA - 150 KVA

LV —120v POL —
Transformer 3

HV — 4,000 / 6,900v KVA - 150 KVA

LV — 120v POL -

~

~

Using
industry
standards
fill in the
correct
polarity

Use Outer Circle for Primary Vector - Label A, B, & C

Use Inner Circle for Secondary Vector - Label a, b, & ¢

Circuit Voltage:

4,000 v

Z O W >»

Customer Needs:

120/208 3@

19

Connect the
secondary coil leads
to the secondary
bushings.

Label all the “x”
bushings

Show secondary
voltages

c-n a-c




Connect the Transformer Using the Following Information:

Transformer 1

Using
industry
standards
fill in the
correct
polarity

HV — 4,160/ 7,200v KVA - 75 KVA
LV — 120/ 240v POL -
V\\
Transformer 2
HV — 4,160/ 7,200v KVA - 25 KVA
LV —-120/ 240v POL -

270

Use Outer Circle for Primary Vector - Label A, B, & C

Use Inner Circle for Secondary Vector - Label a, b, & ¢

Circuit Voltage:

4,160

Z O W >»

O g ©

L g ©

20

Connect the
secondary coil leads
to the secondary
bushings.

Label all the “x”
bushings

Show secondary
voltages

120/240 30

Customer Needs:




Connect the Transformer Using the Following Information:

Transformer 1

HV — 7,200 / 4,160v KVA - 225 KVA
LV —120/ 240v POL -
V\\
Transformer 2
HV — 7,200 / 4,160v KVA - 275 KVA
LV — 120/ 240v POL -

Using
industry
standards
fill in the
correct
polarity

Use Outer Circle for Primary Vector - Label A, B, & C

Use Inner Circle for Secondary Vector - Label a, b, & ¢

Circuit Voltage:

7,200 v

21

Z O W >»

Qg a©

Qg a®©

Customer Needs:

120/240 30

Connect the
secondary coil leads
to the secondary
bushings.

Label all the “x”
bushings

Show secondary
voltages

v

a-n a-b
b-n b-c
c-n a-c



Connect the Transformer Using the Following Information:

Transformer 1

7,200 v

Using
HV — 7,200 / 4,160v KVA - 250 KVA industry Circuit Voltage:
LV — 240/ 120v POL — vo_ ?ta,“dafds
~_| fillin the
correct A
Transformer 2 polarity
HV — 7,200 / 4,160v KVA - 275 KVA B
LV — 240/ 120v POL — C
N

T
I
S
T
=
vs)
ly
0
w
X
w

T
=
>
T
=
(os]
.000
N2
X
w

22

a Show secondary
voltages
b :
|
|
c v
n a-n a-b
b-n b-c
Use Outer Circle for Primary Vector - Label A, B, & C c-n a-c

Use Inner Circle for Secondary Vector - Label a, b, & ¢
Customer Needs:

120/240 30




Circuit Voltage:

Connect the Transformer Using the Following Information:

7,200

23

Transformer 1

HV — 7,200v KVA - 25 KVA _Using
industry
LV —120/ 240v POL - standards
¥~__ | fillinthe
Transformer 2 ~| correct
HV - 7,200v KVA - 25 KVA polarity
LV —120/240v POL -
Transformer 3
HV — 7,200v KVA - 25 KVA
LV — 120/ 240v POL - Connect the
secondary coil leads
to the secondary
bushings.
90 Label all the “x”
[ bushings

300

°
270

Use Outer Circle for Primary Vector - Label A, B, & C

Use Inner Circle for Secondary Vector - Label a, b, & ¢

> O T 9

\|

[

Show secondary

voltages
a-n a-b
b-n_ b-c
cn__  ac

Customer Needs: 120/208 3¢




Circuit Voltage:

24,900

Connect the Transformer Using the Following Information:

Transformer 1

HV — 14,400 / 24,900v KVA - 225 KVA
LV —120/ 240v POL - Using
V~__| industry
Transformer 2 7 standards
HV — 14,400 / 24,900v KVA - 275 KVA fillin the
correct
LV — 120/ 240v POL - polarity
Transformer 3
HV — 14,400 / 24,900v KVA - 225 KVA
LV — 120/ 240v POL -
Connect the
secondary coil leads
to the secondary
bushings.
90 Label all the “x”
° bushings

0e

300

[}
270
Use Outer Circle for Primary Vector - Label A, B, & C

Use Inner Circle for Secondary Vector - Label a, b, & ¢

h

\|

Customer Needs: 120/240

[

a-n

c-n

b-n

24

Show secondary
voltages

a-b

b-c

a-c




Circuit Voltage: 4160

25

Connect the Transformer Using the Following Information:

A
B T
N
C

Transformer 1 Using
HV - 2,400/ 4,160v KVA - 25 KVA industry
LV —277v POL - standards
A\ N fill in the
Transformer 2 ~~| correct
HV - 2,400/ 4,160v KVA - 25 KVA polarity
LV = 277v POL -
Transformer 3
HV - 2,400/ 4,160v KVA - 25 KVA
LV —277v POL - Connect the
secondary coil leads
to the secondary
bushings.
Label all the “x”
90 bushings
‘ =
30 ¢ 150
0 e ® 180

300

[ ]
270
Use Outer Circle for Primary Vector - Label A, B, & C

Use Inner Circle for Secondary Vector - Label a, b, & ¢

Show secondary

voltages
a-n a-b
b-n____ bpec
C'n C

Customer Needs: 277/480 3¢




Circuit Voltage: 34,500 26

Connect the Transformer Using the Following Information: A
Transformer 1 S—
HV — 34,500v KVA - 125 KVA Using B 7
LV — 240 / 480v POL - T2V
s_ta_ndards
Transformer 2 Ay I:Iil)rlpetct:e N
HV — 34,500v KVA - 125 KVA polarity
LV — 240 / 480v POL - C
Transformer 3
HV — 34,500v KVA - 125 KVA
LV — 240/ 480v POL -

Connect the
secondary coil leads
to the secondary

bushings.
a0 Label all the “x”
L bushings

Show secondary

voltages
300 o a-n a-b
270 bn__ bec
Use Outer Circle for Primary Vector - Label A, B, & C c-n ac

Use Inner Circle for Secondary Vector - Label a, b, & ¢ customer Needs: 480 3¢




